Answers 22/4/20
A Mother’s Diary
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Year 6 Maths- Area of a Triangle 1
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. She misses him now he is away
. Her husband, she calls him her beloved Peter

. She doesn't like them - she calls them “flthy swine”
. Stitches uniforms for the soldiers

. She can’t receive bad news

:1n love with or excited by
: She worries about him getting exercise and him being happy wherever he has been sent to

: Franny

: Tuesday night. The diary is written on a Saturday (tomorrow is Sunday) and it was four nights ago

: Worried that they've died and she’s just not heard
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Expected
5a. Children complete the shape to the

dimensions 8cm x 5cm (20 more squares).

6a. 12cm x 8cm = 96cm?

7a. A: 7cm x 9cm = 63cm? B: 7cm x 4cm
= 28cm? total area: 63cm?+ 28cm?2=
91cm?

8a. A=81cm? B = 27cm?

Expected

5b. Children complete the shape to the
dimensions 6cm x 6cm (30 more squares).
6b. 8cm x 3cm = 24cm?

7b. A: 5cm x 5cm = 25¢cm? B: 12cm x 5em
= 60cm? total area: 25cm2+ 60cm2=
85cm?

8b. A = 36cm?, B = 45cm?
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4a. Mrs Kelly is incorrect because she has
found the area of the playing field, but she
needed fo divide the area by 2 because
the files are 2m?. 50m2 + 2m? = 25. Mrs
Kelly needs 25 tiles.

5a. Various answers, for example:

3cm x 12cm, 6cm x 6¢m, 4cm x 9em

6a. Sinead is incorrect she has rounded
8.7 to 8 rather than 9 to help her find the
area. She should have completed 9cm x
12cm which equals 108cm?.

Expected

4b. Ben is incorrect because he has not
accounted for when he rounded down for
finding the area. He will need one extra
tile to cover the 9 lofs of 0.1 (0.9) that he
has not accounted for. He needs 10 files.
5b. Various answers, for example:

2cm x 12cm, 3cm x 8cm, écm x 4cm

6b. Josh is correct because he has
rounded the decimal numbers correctly fo
help him find the area and completed
4cm x 6cm which is 24cm?.
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4a.C. 4.5cm? A. 8cm? B. 9cm?
5a. A. Accept answers from 11.5cm? to

13.5cm? B. Accept answers from 11.5cm?
to 13.5cm?

éa. A. 12.5cm? B. 4.5cm?; C. 8cm?

Expected

4b. A.10.5cm?Z; C. 8cm? B. 6cm?

5b. A. Accept answers from 9cm? to
11cm? B. Accept answers from 14cm? to
Técm?

6b. A. 12cm? B. 6cm? C. 9cm?
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4a. Various answers, for example:

Which friangle has the largest area? (A);
Order the friangles from the smallest area
fo the largest. (C, B, A); What similarities
and differences do you nofice about the
friangles? (B and C are right-angled
friangles, A is an isosceles friangle)

5a. Various answers, for example:

No because although he has estimated
friangle A and B correctly, his estimation
for friangle C is oo low; it has an area
closer to 8cm? not 6cm?2.

6a. Accept any triangles with an accurate
area of 12cm2.

Expected

4b. Various answers, for example:

Which friangle has an area of 4.5cm2? (C);
What s the difference in area between
friangle A and friangle B? (6cm2); What is
the total area of all three friangles?
(18.5cm?)

5b. Various answers, for example:

I agree with Ellie’s estimations because all
of her estimations are either correct, or
close fo being correct; friangle A has an
actual area of 6cm?, so her estimation is
only 0.5cm? over.

6b. Accept any triangles with an accurate
area of 16cm2.




